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(C) %RURAS Y21 (D) 2[3[u3 Y21 (Tertiary)
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(C) Ml 55d 2[AHAA % S1U 9. (D) d-l QR Code 18 ¢l5 53] as18 6.
{1211 U4l 53 OER 2l ?

(A) BISAG -N (B) GROWER

(C) NROER (D) e-pathshala

{12 44l 56 otlotd Saldorl Aseu-tia g usdl el ?
(A) YA - AAYA AHRAA QA Y. (B) vLAUAAL visHL [A5e4 69,

(C) adifA1aeL uUE o1 9. (D) MUl 2AAe S Guasa 9.,
el LRI A6i[Ad 2 R aldy uidl astdl A2l d sl usid, el o ?
(A) WALBLS A2l (B) ud&asl

(C) Huold ¥l (D) (Bulcis AlbA

‘OlLULS ALl A5 69, BUALSAL Al - 24 (At sl aleedl (R 69 ?

(A) dd-lale (B) wuglasale

(C) Ad8IRALE (D) ARALAE

‘Foaell v gerdl ulsur e, s Al - v Aseunl 519 2udl odl ?

(A) wReled (B) 3l

(C) 51014 (D) Hi~eudl

R, U, X,A, D, ? usuel Rial oouiat A1 ydl 5341 g 21199 ?

(A)F B)G

(OH D)1
1,3,3,6,7,9,9,12,21,2 usiel Ra-dl oouiat A< ydl 5241 9 20a9 ?
(A) 10 (B) 11

(C) 12 (D) 13

10, 100, 200, 310, 2 Mg P&l oouiat Al Yl sa1 g >l ?

(A) 400 (B)410

(C) 420 (D) 430

TEACHER 4 5134541 VGCEJGT d2l¥ auidlii 219 dl CHILDREN < $13a$4i <A1 U4l su1
108 gl VAL Al ?
(A) EJKXNEGTP (B) EGKNFITP

(C) EJIKNFGTO (D) EJKNFTGP
TWENTY A 5132841 863985 24+ ELEVEN A 5130841 323039 % auididi >4 dl TWELVE d

Slaasui A U5 5 Advul gl ealaardl 299 ?
(A) 863203 (B) 863584

(C) 863903 (D) 863063
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(61) S8 MUIMIHL “123° le@ ‘bright little boy’ il 145> »12& “tall big boy’ dH% 637’ 2d
‘beautiful little flower’ dl 26% “bright” HI 50 AvUl 41491 ?
(A)1 (B)2 ©)3 (D)4

(62) A+ 2A X, X e —, + u2A + il — V2@ + dlF dAVAHI VA dl 175-25+5+20x3 + 10
A uRaum 1Al 5 dval a9l
(A) 77 (B) 160 (C) 240 (D) 2370

(63)  uglani 77l o Yoy [Asey uie s3U.

20160 4
? 4
480 8
9% 24
(A) 860 (B) 1140 (C) 2880 (D) 3240

(64) 204 Guslani sedl BLsieL »uaar ey ?

(A) 15 (B) 16 (C) 17 (D) 18

(65)  3:40 sell5 (A2 siel i sels sial a2l vl S2al el el ?

(A) 140 (B) 150 (C) 130 (D) 120
(66) el Ul s kL ?

(A) el - g4 (B) Aue - 414§

(C) wasull - det (D) vis - A4

(67)  UUE 68 HOUERLAL 51 UHLSL OLLsdl.
(1) INTERANAL (2) INSECT (3) INCOME (4) INTERN (5) INSIDE
(A)3,2,5,4,1 (B)3,4,5,2, 1
(C)4,5,1,3,2 (D)3,1,2,4,5
(68) A5 [Au ardl uddl [zax AQaR 9. dl d avui dedl AR ¢ ?
(A) 50 (B) 51 (C) 52 (D) 53
(69) s s a-ll sl ydd [Bami 50 (3.l actd . d gl oo aiolla 30 (3.4l A4 &, d ugl ulan
[Bauniaolla 10 (3.3, 29 . ol d wiZetell sean (5.4, g9 ?
(A)20(5.4. (B) 50 [5.4L.
(C) 100 (5.31. (D) 60 [5.31.
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AL 2L5(d 2kl ?
A B C D

/
L/

(A)A (B)B ©)C (D)D
.................. 2 [0et el 2] 69

(A) 2Ad (B) ¢AlAe (C) ¢A+id1 (D) dux
Aol sH{HIY AU BELeWL D,

(A) dsuly (B) s€uq8t (C) vayd (D) URHAR

dxLR1{l adldl A1H GLAL AU A GlLEI . - ALsUAL USIR 2O,

(A) 5dR (B) 48l (C) d (D) A2s

A5l el sadzuimi Al €ldl, weudad SHIRd 2l A5 A2l Sidl. U St U5t Ludl.
(A) g8l (B) Y5ds (C) 8155 (D) 112

uildl el 5569 ?

(A)Yyse (B) els3l (C) 25341 (D) sl-e

‘“flra’ el [Azgidl aoe g i ?

NEREIE (B)udd (C) 3L (D) slellse

Al 208l vl s €l d [Aseu sul e ?

(A) V™8l - 9151 (B) vt-iRqll - [1dald (C) »13al3y - qally (D) 2Uddl- Hgdl
B3Il AR Gl AL ML 8L ULS UR Avale 3 5 Glrid 2 - A0eAYHS HISrlL 215 2108 $2L 697
(A) eull (B) esl@y (C) Ullst (D) {3l

(APl GRA MYloL A 2L Sld dd alsd s34, ?

(A) sl ! ed [ARid ad !

(B) ugust %S [Qenellail {asan, 204 518 4o wil Al Gaustl 4ol eS aadl usdl.

(C) oY, : HIRL @uilell i o1 di Al

(D) .....dl MR MY,

916% 24, dell 251l 2eeiAl vEl s Sl ddl [Qsey su169 ?

(A)2LRL- YL, Bl (B) 2 - U8, [RuiR

(C) sl - |-, 2ic:5281 (D) 52 - (3381, e

U AL B 53¢ 208l GRA U0l 2dlL Sl dd, dlsd 53469 7

(A) H 2L UsL S 621 Qi) A2l (B) 14 AUNAUR ALY o % LU 9.

(C) AL £9 UL AER AUIEAY ik ULU 69, (D) 25 iasHizl unafsd WHIEl el 539, A5
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(82) ‘eAmd woe~llAM[AAS g A ?

(A) 2 + A2 (B) 2 + 1Y
(C) 2 + Ay (D) el + A2

(83)  ulal alsIHi ‘sHRL asy’ s ?
(A) L AHYUHIL ElLSL YOUR WM. (B) 218, UALA HIYRALA BHLSRL.
(C) U1 AL AL | 2l AW 9. (D) 2A8LS 5O ol A Sl

(84)  “09o(l UR AM-ARAY, crialel BUId WRWR 5101 flagll.” - alsdui JuilEd 53 Ae “wRUR
[Barfaameil sdl usiz 9 ?

(A) 2211l Buifagive (B) AHu1As [Bulagdme

(C) Alacuas [ufagme (D) 2alAals Buifagust
(85)  ‘HIRL SAUAL Il Al 2L e, 2 AY.7 - AASIR MiLviLAl.

(A) 525 A1 512 (B) 2Alaa1difsd 512

(C) 3us 2dsIR (D) GUHL AESIR

(86) Mahesh was too smart. (Remove ‘too’ without changing the meaning.)
(A) Mahesh was not smart at all.
(B) Mahesh was smart more than required.
(C) Mahesh was foolish.
(D) I was doubtful whether Mahesh was smart or not.

B7) e INS Arihant is .................... Indian Naval ship. (Fill in the blanks)
(A) The & an (B) An & an
(C)A&an (D) The & the
(88)  Most students have brought their homework. ..................... of them have not completed it yet.
(A) None (B) Few
(C) Each (D) Alittle

(89) ¥ HIRL ALY SULAL. - Vil ALSU e ALS5YU iAW HIMIdR 3 =9 ?
(A) I cut my hair. (B) I clipped my hair.
(C) I got my hair cut. (D) I'had anice hair cut.

(90)  Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary

(C) corporeal (D) tangible
(91)  Givethe verb form of ‘little’.

(A) alittle (B) unlittle

(O)belittle (D)bilittle
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(92)

(93)

(94)

(95)

(96)

97)

(98)

(99)

(100)

Change the voice : “What caused COVID-19 7”
(A) What was COVID-19 caused by ? (B) What was caused by COVID-19 ?
(C) By what is COVID-19 caused ? (D) By what COVID-19 was caused ?

Select the word or phrase which is closest to the opposite in meaning of the underlined word : “Rahul
will never accept your request.”

(A) turn over (B) turn down

(C) turnup (D) reject

Add a suitable question tag : Radha, one of my neighbours slipped off a staircase. ............. ?

(A) did she (B) does she

(C) doesn’t she (D) didn’t she

Fill in the blanks with appropriate set of prepositions : Nidhi travelled................. hermotherall.................
the world when she was 17 years old.

(A) by, above (B) for, around

(C) with, around (D) with, over

Turn this sentence into English : ““©% U8l ¢ d= il 215¢ll Gl el oS 25l gdl.”
(A) Icouldstill saw her standing there alone. ~ (B) I could still see her stood there alone.

(C) I could still see her standing there alone. (D) Icanstill see her standing there alone.

Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation

..................... May 2023. They ..................... to Manali for a week.
(A) for, had gone (B) since, had gone
(C) for, have gone (D) since, have gone

Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?

(B) When did Mantra get the first prize ?

(C) Which prize Mantra got last week ?

(D) Where did Mantra get the first prize ?

| 217 E in this company for five years. Find out correct form of verb from the options.
(A)works (B) is working
(C) has been working (D) have worked

Find out the correct spelling from the options.

(A) Spactacular (B) Spectacular
(C) Spactaculor (D) Specteculor
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(101)

(102)

(103)

(104)

(105)

(106)

(107)

(108)

(109)

(110)

(111)

{1241 U4 54 (At v 9 ?
(A) 825 Uslas v yeol dval 9. (B) 835 yails v AR vl 69,
(C) 825 AU AvUL 2 lRel[As 1L 69, (D) &5 ARA[AS AL 21 AAHY VYL 9.

(V3+27 )2 o AE3U 2 g e Had ?

(A) 30 (B) 48 (C) 81 (D) 12
220 +3x° + 4x> + 5x% + 6x + 4 oigudlll i Jeell  ?

(A)6 (B) 16 (C) 17 (D) 27

Rox— 13 x> +3x2 — dx + kil v S, Ak L Bud g e ?

(A)-1 (B)+1 (C)-3 (D) +3

Rx+y=5uAxy=6d, dlx +)° -l Bud deel awn ?

(A) 35 (B) 107 (C) 119 (D) 341
o [Bgeil y - ulH 9= €l dl d [Bg e, 2l dH AHAA 2UAVHL 5 U1 Sl ?
(A) HUH ARRIHL (B) [acla 2w

(C) x- A& UR (D) y - 218 U

[ead Yov ulsein sedl G5d €lu €9 ?

(A) 25 usL [ (B) ¥is visl U2l V15 B3¢

(C) 6 B3t (D) »i+id B34

{12 200e [Qanl U8l s [ ac o ?

(A) 15 [Gigniell ug1R 2l {1t L8 % i el As1U 6.

(B) o [ [Brgatimiofl wniR adl A4 e Slu 69,

(C) O [ [Bigaimiafl wuR 2l 242002 24 Sl 9,

(D) 61 [M=t [BigaAiuiell utiR 2l HioL 6L el o Sld 6.

oA 5155 [BLsLRLAL ARY, vRUBLAL HIUAL OLRUTR 5: 3 7 €1, ddl d [BLsiaL Sa usieAl ¢dl ?
(A) aysiaL Bisiel (B) 213518 Bisial

(C) 125181 15181 (D) Aulgoieyg Busiay

UBS AL vpRUBAAL ARALOI S2¢l A1y, ?

(A)45° (B)90° (C) 180° (D) 270°
AABC i AB=AC 1 m/B = 50° &d, dl mZC y2d)l ¢dl ?

(A)45° (B) 50° (C) 80° (D) 130°

MATHS /SCIENCE (A) (13/24)



(112)

(113)

(114)

(115)

(116)

(117)

(118)

(119)

(120)

(121)

(122)

(123)

AABC 4i AB=AC 2t mZA=90" &la, dl m/B k2l 2 ?

(A)90° (B) 80° (C) 60° (D) 45°
AHIdRoU A58 ML {13 2uha [l U] sy (s e 4l ?

(A) AL AL AL 6L AHLA S1Y 9. (B) UH ALHAL UBUAL AHIA Sl 9.
(C) [Asel 113 ALHAL LA §HIOL . (D) [asell urauR 2150{loA I3 9.

AABCHLAB=63H], AC=7A4 oA BC=8AH1 9. AB 2A4 AC il H[Bigdl 2rjsH M 21
N&. dl MN l dous seell eal ?
(A) 441 (B)3.53l (C) 3 Al (D) 6.5 4]

O 3vsalloll Agulil AD AU D, %A AB 2 2l 8. % AD =34 A+l dal AB =30 A+l €1y, dl
adui-l svsell @alL AB d ld 32 ¢ ?

(A) 174l (B) 1534l (C) 4 Al (D) 8 AH1

51y AGP5IRLAL ALH ALHAL URUALAL Ul s A3l vRILAL AL S2ell €l 69 ?

(A)90° (B) 180° (C)270° (D) 360°

215 AHgloUy PLsieimi oL A il 5 A4 2 >(loy ol 8 AH €l dl d Busiale axis0 e
wa?

(A) 1222 (B) 18 31 (C) 2512 (D) 64 A2

215 doigdly gl HtiAl Glans 10 A 244wl Brosul 7 43l 8y, dl dotgrdla sig-l asuuéle
&olsu s2¢ el ?

(A) 3523 (B) 44 )2 (C) 70 A+ (D) 220 A

7 A4 Brosutaio ollesl asuuidlsd a-sa sod sl ?

(A) 88 A2 (B) 154 21° (C) 616 A2 (D) 308 A1

AU 8-S, YA 2 69 7

(A) % - (B) % - ©) % 2 D) % -
12, 15 24 21 L 9L L. 21, Seedl a1y ?

(A)3 (B) 12 (C)21 (D) 420

96 il 404 <L L. AL. 2. 4 €14, dl &AL, Sedl 2y ?

(A) 308 (B) 500 (C) 38, 784 (D) 9696

R oc 247 B L [l AgUEl ax? + bx + ¢ il 9l €1, dl oc + B o Hen ded Sl ?

(a4 ®) -2 © < @) -
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(124)

(125)

(126)

(127)

(128)

(129)

(130)

(131)

(132)

(133)

(134)

(135)

el QLrdlel ARALULL A JBUSIR A 5H — 3 24, 2 Sl ddl [gelld eiguel 50 el ?

(A)x* +2x+3 (B) x> —2x +3

(C) x> +3x+2 (D) x* —3x+2

6L wislell vl sl ARALON 9 9. aoll Avalel Aa a1 53l Hadl vl 21 sl vedieted]
sl vl AvaL sl 6L oR(l €9, dl d Aval 56 ¢l ?

(A) 81 (B) 36 (C)27 (D) 18

Rl sledl GHr 21 Yordl sta-l Guell e o1ell 9. 212 arf uedl Ml GHR yot-ll GHR s3di AR
ARfl 29l ol Ml slet-fl G1R g eal ?

(A)30ad (B) 36 ax{ (C) 42 ay (D) 33 ay

[Beid a3{l5200 ax? + bx + ¢ = 0 AL & B~ dAlds 6flo Holcdl €1, dl AL U8l 5 212 wiett
Aq Sl ?

(A)b%—4dac>0 (B)b? —4ac<0

(C)b?—4ac=0 (D) c>—4ab=0

[Beti {528l x? — 3x — 10 =0+l B3t g ¢l ?

(A)2,5 (B)2,-5 (C)-2,5 D)-2,-5

A8l 30 oparel ulanHi A vis [Qendl21 10 A1 A1 HAL Sl dl AL LRIAL 9 218U 31 A8l
BIRUR AN AE, 9LRLrL 4] 61RA61R Uldl. dl A8l ulauHi Sedl aLeL Hored) ¢l ?

(A) 12 (B) 15 (C) 10 (D) 6

k <l 568 Brd M2 Raid 241530 x2 — 6x + k = 0 <AL 0L AL AR oflos va, ?

(A)0 (B)6 (C) 12 (D)9
xR aell 2,7, 12, ...... q 103 ue g s ?

(A) 47 (B) 42 (C) 52 (D) 57
U2H 20 5[4 et yalsicl 00 Seell 21y ?

(A) 190 (B) 400 (C) 210 (D) 420

o 6 (L5101 215 Busiei(l otiogdl ol Brsiei(l 213y oiiiel AHUHERHL Sl dld (BLsisl (a8l
g, sl asy?

(A) oirt [Lsiell 2153 €l (B) oinl [BLs18ll AM3u €1
(C) 6inl PLSISIL AHLA 1o, (D) eir 15180 [A3u el

[Big2ll A (6, 5) 24l B (—4, 3) 4l A4 2idR 2ldd Sld dd y - 18 U, [Bg 54,69 7
(A)(0,9) (B) (9,0 ©) 5,4 (D) (2,8)
o sin A= 184, dl cosA o, Hed g s ?

(A)-1 (8)0 ©1 (D) 3
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(136)

(137)

(138)

(139)

(140)

(141)

(142)

(143)

(144)

(145)

(146)

(147)

sec’A —tan’A 4yl g Sl ?
1
(A)-1 (B)0 ©) 5 D)1
og{lel uR Vs 2laR [ARde RAMAML 9. del wial 154123 g2 8al g+l urL s [Bigal elaz-l
22l Gl 1w 450 &, dl 2zl Glaus dedl ¢l ?
(A) 15122 (B) 30 {lex (C) 15 122 (D) 15+/3 lez

N N N

6L A gl agdolll Blasdizil 5 A4 i 3 A 9. Hlel adu-ll @al Al agan sl 9. dl »u
-l dois sedl sal ?

(A) 84l (B) 1044l (C) 6 A1 (D) 441
21 Al Brasaiciion 249 120° Al 3ely vl v21ddl adinsil gione Astsa Sod aiy ?
(A) 5544 332 (B) 1386 212 (C) 44 )2 (D) 462 212

215 WA T2l 90 YL 2is avidl 90 oloL dsclzil €9, o viiviHiel 245 20 dsdle g (295 dd
$13ALHL 1A, ol dedl uR Yol adf val iy d-ll ieiladl sedl ?

&3 ®) 15 © 1 D) 25

259C diurtie Bl susyui e g udl ?
(A)262.15k (B)273.15k (C)298.15 k (D) 352.15k

AURUM YR SAsgilu AL g Sl 9 ?

(A)2,8,0 (B)2,8,1 (©)2,8,2 (D)2,8,3
AU (Gudaialwg) AL deeful A U4 s34 [ 24U & ?

(A) ¥ UMY $HLs HUA 6. (B) AALUBLS AHHT AHLA S14 69

(C) ilas a1+l el el Slu 8. (D) AHLL URHLZ, SO1LS HRUA €.

54 51 RS VAL Slao(l2 dZLS lovalHl 2419 €9 ?
(A) 2l SIMRAANO. (B) AldALAH (O EERIEIEN] (D) Ll uLhr

21 (2695 1Y 21 AML Al HoldL 2] ?

(A) 812 - UdIHL (B) it Au{lHi (C) 21wt~ 5151 (D) 2e4HL

o 5149 oA Uglel-l Aol — AHUAL VAU AHUAL 24807 AHIdR AL Yo HA, dl d welef 3l
Al sl w9l ?

(A) Rz el (B) AR d a1l sl 8l

(C) 210 UAR(l ald 52l 82l (D) 120 A2l U sl 83l

L5 512 20 UYL 5 A5~ul 18 km/h 4l 36 km/h +1l AL Wk 52 69, ol Ll UAdL Sl sl ?
(A) 3.6 m/s? (B) 18 m/s” (C) 1 m/s? (D) 10.8 m/s°
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(148)

(149)

(150)

(151)

(152)

(153)

(154)

(155)

(156)

(157)

(158)

(159)

Ugle{-il 801 m e UARL v AL RIS 9 5 €9 7

(Aol (B) %3l (C) uaol (D) Aol

Ugle{-il 801 m el A0l a +lL LRIASNA 9 58 9 7

(A) %3l (B)olnl (C) A2Mi (D) % sca=ll ALsHIL

yec{l-l 9 calstRLAL 5128 ARl AcauddLl Heuetl Aec{ul (1AL Usl sy [ a9 ?
(A) ANl e [Ayadd U 2leg €ld 6.

(B) el Heu Hell U il €lU 69,

(C) ARAMAdNT, Hed [Ayadd St Yell UR AHIA S1U 69,

(D) 2camaolg Yeu ya ueellell [Ayadd dis wdi al .

10 kg £9 q1adl ueledd yeedl u2 a+ eq €ld ?

(A) 98 kg (B)9.8N (C)98 N (D) 980 N

m 80 2 v F2al 2420 A212] dfa sl arg -l dulaABladd, Heu g siu ?

2 2

(A) mv? (B) %mv © m?v (D) %m v

yedl Uz m g0 4R1adl axgA w2l h Qs ds wami 2ud, dl d-l 33clla R Glald e
sed ¢y ?

(Aymh (B) 3 m’gh (C) mgh (D)mgh

Fe + CuSO, — FeSO, + Cu GuR sufdd uEul dd Geleran & ?
(A)ddRlsauBaL  (B) [Qued ulsul (©) gy ulsur (D) [Aenu- ulsul

dere glagll pH sedl ela ¢ ?

(A)0 (B)6 (C)7 (D) 14

clogel 4L 51l 2RI Sl ?

(A)alses xR (B) ALS[2s A3 ©C)2isdlas Ry (D) adRs 2R

AL Fl gl IR 012 UBUL 530 8UR vt SLdlore diy 20U €9, uig (1AL UGl sl AR g
A8 UBUL 530 el Ay Baust sl 4l ? (Mn 213 Mg [Riaid)

(A)HNO, (B)H,SO, (C) HCI (D) CH,COOH

cdlvin 512 A 8L Al Gudlami daldl diedidBaiell uglami 1AL sl S uide] 2dz
AaladlMl H1d 9 ?

(A)dlauH (B) ey [H[Auu (C) [»5 (D) il

2t 2181 2u1elu Yot C H 6. Al Secll Uerinloss vt ¢al ?

(A)8 B)9 €6 (D)7
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(160)

(161)

(162)

(163)

(164)

(165)

(166)

(167)

(168)

(169)

(170)

A2AAmil suLqdlgHl — OH Buiellet A3e vl Slu e ?

(A) HlUrLe (B) Wlu-let (C) UL~ (D) MULH
el HA[US V15U cotedl 215 *1191 9 ?

(A) WA ol (B) #d4r (C) G o (D) ulRae~ dat
YA, HI[HE VIRLS A1 HOLAL UL BRIAS 3L Sl 69 ?

(A) U[Ri (B) A& (C) AHIMAR (D) [2(@it

&, AdLsiMiAl 422 ude vl vtasielly 2 9 5869 ?

(A) Rrvidg (B) Adlulo, (C) ¢aldg, (D) S1us14

Hird 1Ll $UL ML glRL WRLRS serdAed 2 AHA QUL [RaH 211 6 ?
(A) &L HI% (B) 6yt HRetvs (C) doAnn (D) M [Relvs

vicd:uld SyfArnl Aec{ul (1AL WSl 53 [Qein A9 9 ?

(A) S [erle] Geuler ag[UsHi AU 9.

(B) Sy [&t 3[AH1 A5UAL R, [FEAR s394 Hee3u A4 9.

(C) d aR-t [As1 i glgui neezu i .

(D) Al 2yl Aiaell Hguie (srbidlai) ua e 9.

215 oo A1 a3 woag ulalbBior >uctdl, A A dg sl HIg seia 9. dl dgd el s
8l ?

(A) ALRALALHA A Yoo Seael 922 (B) v 57 el dsdl Sl 422

(C) dsdl 5 U (D) asdl $wsll g2

1m 3+ coils HR1ddL ol[&21[0 Axirll ular Sedl €l ?

(A)+1D B)-1D (C)+2D (D)-2D

il At AAM[RIAL SraeloilsSHl 2l 812 AL SIR8L AU ?

(A) 518l Y REVEC (C) s+l[=s1 (D) R[eu] 21yl

20429 21519 AL yee] yRell o4t 3oud 2 SR8 e €9 ?

(A) ALALAREL GLRL G2 USL9T, AWNMBL QB UHIRHL 214 9.

(B) Alclal glL Usi2i-L oflon 3a0{l Avume{lui 6421 391 ugleld ati uHIRML A1 9.
(C) AlclARBL G121 &40 [Raldtl ey 90+, USlelA At UHIRIHL 21U 69,

(D) AlcllaRRIHE wiRasolel [(Brell v s 9.

{121 U4 53 ue [Qeyd uiaz-d w124 yed siud el ?

(A) VI (B) V'R (C) I°’R (D) V2
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(171)

(172)

(173)

(174)

(175)

(176)

{1241 Ul 534 [t dlRetl AL AERTHL AU D ?

(A) ARl A4 Alss dlRe{l Aol AUHIBIHL 81 69

(B) dll+tl 2ARY AleSAlRAL AAL9E L SOl AU UHIRIHL SLU €9
(C) cllRell AR ALSS ARl FLIOEAL EPSOLAL AHUHISIHL S1U 69,
(D) dl~tl 2ARH 2L dlReAL gl 2l GUR LR AVL .

YA gL [ AOLS 2 A 213698 Bl dlAL A48 4 Q 9. dl VUL % gA-L L oS =12

2
213698 HRAAdL I+l LAY S2ell 83l ?
A)1Q (B) 4 Q €©)29Q (D)8 Q
[Agd uRuami agdl [Agd Ualed Yed Hiual UL ALl GUULL sl 241d 6 7
(A) %R (B) RtlRe2 (C) diceHler (D) 21322

GRUM SO ULRUH Ues2 1A UBUL 530 ARAM US2 2, ALRUH SAIRUDS oLl €9, AL 5ol
usRAl uBur e ?

(1) [Rau ulzul (if) a8 ulsul
(iif) Adoflse ulEu (iv) [g[azaru- ulsu
(A) (i) 24 (i) (B) (ii) 211 (iv)

(C) (i) 1+ (i) (D) (iii) AL (iv)

21zl u12) [AH1A uie $3.

(1) Bies 2115 Wongllal vi-elRus 69,

(ii) eld GuRd 11a8 HARIUH siE2rd oiid © .

(iii) Sl uis il raion M SIES AR Ysd 52 9.

(iv) AU, %E USYR5 MRS BUu~L 5269,

(A) (i) 21\ (iii) (B) (i) ¥4+ (iv)
(C) (ii) 4L (iii) (D) (iii) 211 (iv)
Maigel deciHi A1l (At urie 52U

(1) 51UR 2t (sl Brsitng, = ollwo

(ii) $1UR e Sl Brsitg, = ell=os

(iii) Al 2t 2l g =qesR

(iv) A1, 2 s+l Rusrag =lesr

(A) (i) 2L (iv) (B) (ii) 24\ (iii) (C) (i) ¥\ (ii) (D) (ii) 211 (iv)

MATHS /SCIENCE (A) (19/24)



(177) usiaLdsanel e Ml oird] {lA-{l tediziia 1111 sHH10saAd [A5e uie 53U
(i) stof=t 315U 3o, slotlBdiHi [R5 ug,.
(ii) $AIRUBA glL UsI1AGL] MLl 534,
(iif) AstAGlod AALAELS GlogHi FuidRa sel 2 wielldl Uil sLSgiore deil (s

[Agen 5.
(A) (iii) — (i) — (ii) (B) (i) — (iii) — (ii)
(C) (i) — (iii) — (i) (D) (i) —> (i) —> (iii)

(178) <121zl 12) [At1 uzie s,

(1) 2Rl Geurt sl 2i2ll Yot uR 2udel 9.

(ii) Rl R 112 20AURA vH[RAR 0.

(iii) 9l& id:Rola Meaedl diRuial Gout i 6.

(iv) HIEIML 22212 rAelL 011 21U 69

(A) (i) 2t (iii) (B) (ii) 2111 (iv) (C) (i) 2L (iv) (D) (i) 1=\ (iii)
(179) ~l12A1xiell 412 [t urie s,

(i) Il @l (Rubid s2 6.

(ii) [&ofl waetni S5 wor qarer{l & ulaglatl 2Aigdlas e 6.

(iif) OLLsNUUHL [ERUA YA 2ALcilNS 6.

(iv) el siel [ sdedl 20102 Mdl dsefl Uit [Eo(l 31y uR 9.

(A) (i), (iii) 24 (iv) (B) (i), (iii) 2t (iv)
(C) (Q), (i) 2. (iv) (D) (i), (ii) 24+ (i)

(180) 21 Al Bosdicllall 249 3es 2419101 60° Al veil iriicldl Agoirl griigle A-As0 2Ll
(A)231 22 (B) 22 231 (C) 11 3? (D) 57.75 A2

(181) [as ulRiaw sidsuni wlRiaenemi aoilRiaein 24425125 ol %33 Aal (Al 224U Slaelimi
ey Hoadii (1AL U5l 569 uylsa Heezu Au © ?

(A) [BuLcHs dallue (B) [AMyazd i (18t
(C) 1512l Rl ) ENRERILE]

(182) (a5l ueiui Geadl {12 Fal wiai-il usil Ul sdl us 4 Qg ugla-dl Mg s ?
(A) g 2llviag, ? B)a e duag ?  (C) sSAd dllvad ? (D) R ollviag, ?

(183) [Asti-t [Ruatermi {121 U4l 56 [Riarel ugla-dl Gualol [Qendlin [H1 24 [BsU o119 9 ?
(A) [Real+t ugla (B) vl Ugld (C) udloL ugla (D) %2 24l

(184) [Asu Riatemi (1AL U4l 58 ugld 2 [Qendl 3wl ugld <2l ?
(A) slallRs ugla (B) U4l ugld (C) WiFs2 uglad (D) ey ugla
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(185)

(186)

(187)

(188)

(189)

(190)

(191)

(192)

(193)

(st [Rael 56 el 202 ugld giat [Qenelld ama1el A4t ds a1z Adl o, Al
(20120, Adl ug[aatl s2aL e B ?

(A)ug@viqugld  (B) Uiwse usld (C) vl ugla (D) su--2ul ugla
(18121t sl A (Al Geleell urdl A1t Rigid, [FaH S Yot diradiMl a9 ?

(A) ALY 2[4 (B) (Rt A[3o14,

(C) 21214 2 [MH21H, (D) 21214+ - (Rt (G214,

(st Biad [Qauesdl [Alas uauviiil 241 A4 vied [Qual ALAL 2oit gL a1 Aaildls
s1d 2199 AL ?
(A) 2UH s Aeocid] dlaiel AH yel AU 9.

(B) 2UH sl (e[ [Qaie [ udl 24 29 .
(C) 2uM sal [Qenelld] [Quamiafl e seidl asiu .
(D) U 5912l 214 [Andls s19 Heta A2l day saldl asi o,

B[t [Avuni [Qenelziiel & d HelHi Aanls 5 s21e il Hi2 56 12l adl adut ?
(A) Rilg 5118 (B) wA[MU10UdL 5418

R

(C) Hrldallis sl (D) [Rel A1

LBl (a5 AAA51S, ASOL VA UL oL dl 561 [Rla1eLAL Yol AARAL ASBL ?

(A) 3lld Yl ¢Astid dRS %9,

(B) 4l U2l vt uz %9

(C) A0l A5A YR %9,

(D) AL AAUAHL AUAEAL AHIM Y2AL i ARAL A,

Bl (AL “AH%” AL St salaal sul Buruesdl Gualor s 9 ?

(A) Gelerel U0 (B)ule 52 (C) sl 52 (D) ugl oi-tld
(&1l 55 UglaHi &ots0 vin eets0Ll Yotell GUALDL 53 A5 S BrASL AHAIHL 2419 69 ?
(A) 214 ugld (B) 21214214 Yglad

(C) [Fotm wgla (D) syl Al

“BLoletel 814 el dratoll 1807 At 6.7 - i 3éL dllviaal W2 56 Rzl uglisdl Gualol
5380 7

(A) [ ygld (B) 219144 Ugld (C) 2éls20 ugla (D) [A€auadls gl
AU 51 USAl ULS UL 5] HEUUSA 9L S1USL ALY 69 7

(A) Riastsidul sMsdl, YARAAL 2 Aldd 219 6.

(B) [Aduad e 1 2UUAMl AR BEHA 6,

(C) Al ad{ataelr sa1Hl Hasdl 2d 6.

(D) [FlR Sgil Rig s2cumi ugl Ggma 69,
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(194)

(195)

(196)

(197)

(198)

(199)

(200)

aofvizmi [Rets 9 llviaal oS @l @ d-ll [Qenlzi wA Asydell dld 2% 541 Hie e 534
slaed Gl Ad A ?

(A) ¥lsRel Slaey (B) Gros-il-ulRad+ Slaey

(C) Belerel Slaey (D) [Amuife4ym slaie

Aulas (&1, 9 Hewa o ?
(A) dril G121 AAL2 ARULEL A M 53] ASIU D,
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